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THE WINNING EDGE DEFENCE ACADEMY (WEDA)
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Question paper (2024)

Time: 2 Hrs 30 Min

a9 2 % 30 e
Sections / 3rgwmT Questions / % Maximum Marks / sifterawn o
English / 3@iSt OR Hindi / & 25 25 x 2 = 50
Mathematics / Tftt@ 50 50 x 3 = 150
Intelligence / i 25 25 x 2 = 50
General Knowledge / €@ I 25 25 x 2 = 50
Total / F&1 125 300

Instructions:

All questions are compulsory and objective type with Multiple Choice Answers.

There is no negative marking.

In case of ambiguity on any question, the English version be taken as final.

Please use black/Blue ball point pen to completely darken the circles corresponding to the
correct answers.

The last blank pages of the question paper are meant for Rough Work.

The candidate must darken only one circle. If more than one circle is darkened, it will be
treated as a wrong answer.

Please return the answer sheet to the invigilator after the exam is over. The question booklet
can be carried along with by the candidates after the completion of the exam.
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SECTION — A: ENGLISH

(Only for those attempting English language)

1. Choose the correct spelling from the given
options:

b) Sanctian
d) Sanction

a) Sanction
c¢) Sancison

2. Choose the word opposite in meaning to the
given word.

Forgiveness

b) Decline
d) Revenge

a) Restore
c) Withdraw

3. Choose the correct article from the given
option.

Heis honest officer.
a)a b) an
c) the d) No error

4. Identify the tense of the following sentence:
The Sun sets in the West.

a) Present Indefinite

b) Past Indefinite

¢) Future Indefinite

d) Present Perfect Tense

5. Fill in the blank:
The of these products good.

b) quality, are
d) qualities, is

a) quality, is
c) quality, were

(Direction Q.6-Q.10) Read the following
passage carefully and answer the questions
given below:

It is believed that a pashmina shawl is as warm
as six sweaters! It is very thin yet very warm.
The goats from which the soft pashmina wool is

collected, are found on very high altitudes of
5000 metres. In winter, the temperature here
drops below 0°C (-40°C). A coat of warm hair
grows on the goat's body which protects it from
extreme cold. The goats shed some of their hair
(fur) in summer. This hair is so fine that six of
these would be as thick as one hair of yours!
The fine hair cannot be woven on machines and
so weavers of Kashmir make these shawls by
hand. This is a long and difficult process. After
almost 250 hours of weaving, one plain
pashmina shawl is made. Imagine how long it
would take to make a shawl with embroidery.

6. Choose the correct option to fill in the blank:

It is believed that a pashmina shawl is as warm
as

b) six sweaters!
d) eleven sweaters!

a) three sweaters!
¢) nine sweaters!

7. Choose the correct statement:

a) The goats shed some of their hair (fur) in
summer.

b) The goats shed some of their hair (fur) in
winter.

¢) The goats shed some of their hair (fur) in
rainy season.

d) The goats shed some of their hair (fur) in

spring.
8. Choose the correct option:

After almost of weaving, one plain
pashmina shawl is made.

a) 100 hours
c) 200 hours

b) 150 hours
d) 250 hours

9. "A coat of warm hair grows on the goat's
body which protects it from extreme cold."
Identify the part of speech for "hair' from the
given sentence.
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a) Verb
c) Pronoun

b) Noun
d) Adjective

10. Choose the opposite of thick'.

b) soft
d) fine

a) warm
c) thin

11. Identify the adjective from the given
options -

a) High
c) Birds

b) Found
d) Remains

12. Fill in the blank with correct degree of
comparison:

| have much money in my pocket.

b) More
d) Many

a) Not so more
c) Most

13. Choose the word that is opposite of real

b) Imaginary
d) Modern

a) Reward
c) Wise

14. Choose the correct spelling-

b) Receive
d) Receeive

a) Receive
c) Receive

15. Choose the correct option to improve the
sentence and replace it with underlined word-

'Did there bus come on time?'

a) their
c) their's

b) theirs
d) No improvement

16. Choose the correct option to improve the
sentence.

'Ram left the house before Shyam got there'.

b) leaves
d) has left

a) will leave
c) had left

17. Fill in the blank with suitable question tag-

'l needn't ask him, ?'
a)canl b) am |
c)aren'tl d) need |

18. Complete the sentence with the correct
form of verb -

The train suddenly.
a) is stop b) stopped
c) was stopping d) has stop

19. Choose the sentence having intransitive
verb.

b) Birds fly
d) He burnt his diary

a) Boys fly kites
c) Karim ran a race

20. Fill in the blank with suitable conjunction.
| do not know

he has gone or not.

a) whether b) if
c) through d) yet

21. Complete the sentence with suitable
article-

Ram is student whom we all expect
to get less than 35% marks.

a)a b) the
c) that d) an

22. Fill in the blank with correct preposition-

The speaker is going the subject.
a) from b) off
c)to d) within

23. Fill in the blank with correct word.

'Akbar's army the castle of
Chittorgarh'.

a) Cease b) Seize

c) Seized d) Sees
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24. Choose the correct meaning of "Beat the

air"-

a) To make useless efforts
b) To be victorious

c) To be defeated

d) To defy

25. Choose the word opposite in meaning from
the given option:

THREAT
a) Menace b) Thoughtful
c) Safety d) Prosper

SECTION — A : HINDI

(FareT &t smer 7 o & et o fotw)

e (wardET 19 5 9%)

Frafafeaa sramr # emEe vfge it A= g eyt &
ISR

@ AT ST & fo aefie Wi ©: w6l & e e et
g FEA A AT Fga T SIT 8] THRAT S JeEw
AT I T TR ST @ 5000 e Hit wga i
e W T STl 1 et afdat & qnaw 00 & 400 A= fiw
ST ¥ TR IR T I ST 1 R A I S 8
S T HEH ST A TR FAT B) AT qwRAT AW TS
ST A St 8] A 1A 59 BHd © 1oh U8 B a1t et 3
e 8 i R o grer o w

T ST HHT IR T I S v ¥ SR saine wei %
A B W T Tl B S 8] TS T il S BT
SfsRaT ] T 250 e TR F WS W& WA Wi
AT R AT HISTY foF TS o6 |Ter ht QR e 7 forarrt
fren wwe S ST

1. Teh T i qf o Wt forped 1 =g hifor)
T HHT ST & Tof e i ------ 3 e o S R

a)?ﬁ?@?ﬁ
b) ®: W
c):ﬁﬁ?.ﬁ
d) =g Wl

2. GE Y T 9 FIfSIE-

a) T & SeRfEt 310 3 aTe (H=s) e 3t 3]

b) W& 7 TRt 3T @ a1 (A=) 3T At 2

¢) STRRT o HIGH H T 19 Fo o1 (AF=H) 1S It
&

d) ST 3q § THIAT 3T FH 1 () 1S It 2
3. TEl U T = hHifL-

T 1 S & S AR AT Tt Tt 8

a) 100 =2
b) 150 =2t
¢) 200 &t
d) 250 =¥

4., ST % IR IR T4 ST ol Ueh I ST ST & SiT
I AT 5 A T FET R

I AT | Tl I HT AR e &Y T
a) fopam

b) &1

c) EeETiE)

d) ferror

5. e’ 1 Rmdiareler wree g

a) ™

b) Fer

c) Ao

d) aftsshd

6. ATRT hl GARA  Ie¥d & Gl Foreke a1 = FifSre-
T % AT & & € T BN’

a) DI
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b) BlgaT 2
¢) IS T |
d) B FH 2

7. & T T o -

a) TN
b) SiEAoT
¢) ¥esr
d) GO

8. TATA TS H WE 3ef -

a) ST JATH AT
b) fersrft gFr
C)Wﬁﬁﬁfm
d) ST AT

9. Y faepedt o & i vrsg o1 w5 Fifsre-
T 3R R )

a):ﬂﬁ%

b) T

c) ﬁ

d) TS Tt T

10. Sfod AyeaeYe Yoq i TerrdT & ek o o gfd
e

LEEGRGIR TE TN S AT T
a)ﬁﬁ

b) afe

c)%ﬁ_sﬂ'ﬂ

d) qety

11. 9T ! QT % 3299 A STeIETiohd Y168 % T T
T weg g e fereedt o @ gfe-

T ITh! o8 T qHT T 277 of 17

a)3:|7:h°f
b) IR
¢) 3T
d) 1S geIr TE

12. 3fer ¥1e% i wgrar & qr U Hifsre-

e fawg TIAETR
a)é‘z
b &
Pkl
)

13. R e fompedt 3 & & S A I g

a) forsfiferar
b) SfifsrfersT
c) frftfersmr
d) Sfsfiaftan

14. Jraweh T ATt aTE S g

a) S=d YT SSI4 2

b) fafeat 3t 2
SEALECEU

d) 39 1ot 2Ry S

15. waxt fompedt 3 & fadiareles vroq gfTe-
gHeh

a) Elltce)

b) feremequt
c) gl

d) 99g g

16. Foram % et &7 @ TR QU Ao

a)lﬁh'f%
b) Tk TS
¢) %k Tl off
d)FHTH T

17. 3fora w1o% Y FErIAT & TR U ST

W™ g om @ e s ot 35: YA @
ST &
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a)Q'FIT
b) &

¢) ST
d) @

18. TAwferRaa aerr =1 wtet Faftor Hifsre:

T TR g

a) TAHTTRIA

b) ST

¢) AfarsreshTet

d) 3TEEHT

19. "arfee 3 faadiarelen rsg w1 v hifore-
a) TP

NEARIEED

¢) e

d) g

20. 3 ¥rog it werrar & s T A g A
STeheR <l BT 1 Teriteg & Ryt |
a) v feam

b) SttaT

c) S foram o

d) ST ®

21. s T A g hifore-

TSR R el |

a) U &
b) TUTeT &
¢) Turer oft

d) TorerETd &
22. 3o st & e v < g <hifor
TSR R TSI ?

a)wﬁ

b) g H
c)éwﬁ

d) STELd T

23. W&x Y158 T fardiaeden wres g
grTSfierar

a)Tvﬂ'UﬁECIT
b) &

¢) IR
d) wfcramer

24, few e fape o @ frsiwor we=nfae-

a) ST
b) 9TaT
c)ﬁ!‘%ﬁ
d) 3rasy

25. gerr bt 3fera e i wrerrdT @ ek o i gfd
HT-

S CR DE
a) SATeT Tt

b) 3T 31ferk

¢) Taiferh fSreT

d) FET "N
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SECTION — B: MATHEMATICS

26. 2.6 kg +3 kg 700 g?

a)6kg300g
c)5kg300¢g

b) 5.6 kg
d) 6.7 kg

27. The side of a cube formed by melting a solid
cuboid with dimension3 cm x8 cm x9 cm is:

3 Qrt x 8 At x 9 Aft A TR TH I TN A e 7
aﬁa?#ﬁgﬁw%

b) 4 cm
d)5cm

a)6cm
c)3cm

28. Eight small cubes each having edge 2 cm are
arranged to form a large cube. The volume of the
large cube (in cm3) is:

T ST o M o T Sedten 2 At it At @1e S wAt e

TR fordT 7T | 5 O T A (At ) }:
a) 48 b) 60
c) 64 d) 72

29. If the cost of 420 oranges is Rs. 2,520 then
the cost of 8 dozen oranges is:

% 420 TR it HHT Rs.2,520 B A 8 i A A FAT &

a) Rs. 480
b) Rs. 540

b) Rs.528
d) Rs. 576

30. If 16 bags cost Rs. 1,520, then the cost of 3
bags will be:

e 16 ATH AT Rs. 1,520 B, a3 F7 h1 hiwa 2ot

a) Rs. 240
c) Rs. 270

b) Rs. 255
d) Rs. 285

31. Which of the angles in the given figure is/are
equal to three right angles?

HITE SRIT T N AT T A RNV S /2

&
a) e and Zc only./ Fad Le 3R Lc

b) zc only/ &Faa £c

c) zeonly/ Faa Le

d) ze, zc, £f and £g only / Faa Le £c, £f 3R
4g

32. Name the type of an angle whose measure is
26° more than the difference between the angles
146° and 82°.

IE HIVT % TehI T I STSY fTEhT 71T 146° 3T 82° H siier
F AT Y 26° AR B

a) acute angle / =T

b) obtuse angle/ 31fére shror
c) right angle / @mehr

d) reflex angle / wfcad sior

33. Two angles of a triangle are 40° and 50°,
respectively. Name the triangle based on sides
and angles.

T Pyt o 31 0T SHERT: 40° 3R 50° B SRt ST ol &
TR R B 1 T SRy
A

40" 500
B C

a) Scalene and acute angled triangle/ fawaaTg 37
ESGIER S
b) Scalene and right-angled triangle / fosmarg ik
T Byt
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c) Isosceles and obtuse angled triangle / @wfsamg
HIT ST RIS

d) Scalene and obtuse angled triangle / fowmamg
HIT ST RIS

34. Which of the following fractions will be at
the third place from the left, when these
fractions are arranged in ascending order?

Trfofea & & €t e and & e o W &rf, S 9 7

=t ot TR s o safRera foram ST @2
257 9
3’6’8’ 14
a)2/3 b) 5/6
c)7/8 d) 9/14
) 22 2 2, .
35. Arrange the fractions —,-,—, = in descending
9’5’11’ 7
order:
22 2 2 .
BT =, =, —, = 1 T 51 o il
9’5%11’7
2 22 2 22 2 2
AT 575 b)S 7 51
2222 g2222
C9’5’11'7 11’9’7’5

36. The largest among the fractionsg,ﬁ,é

andi is

13

.54 7 6
M,;,H,Ewﬁﬁwﬁaﬁﬁmé
a)5/9 b) 4/11
c)7/12 d) 6/13

37. What should be added to 513 to get 657?

513 T T SISt ST 36 657 JTH B STe?
a) 165 b) 136
c) 144 d) 917

38. Three cloth pieces of length 7 m, 7.5 m and
9.5 m respectively are cut in pieces of identical
maximum length. The length of each small piece
(in cm), is:

F: 7 M, 7.5 M AR 9.5 X Aewg At A FS F
TS ! T SATHAH TalTg o ghel H 1T ST 8 Jeeh DI

a) 25
c) 40

b) 30
d) 50

39. The LCM and HCF of two numbers are 150
and 25, respectively. If one of the numbers is 75,
then the other number is:

QA &Rl % LCM 3 HCF shAw: 150 3k 25 & IRkt &
T HEA 75 7, A qud we

a) 29
c) 40

b) 32
d) 50

40. A shopkeeper bought a table and a chair for
Rs. 1,900 and Rs. 600, respectively. He sold both
the items to Ankit with 15% profit. How much
did Ankit pay for the table and the chair?

Teh THHER 3 U ST 3R Tkl 67T Rs. 1,900 3K Rs.
600 # T Iu AT IE IHFHT F 15% A W/ 9=

i 3 v it et 6 R P S g
a) Rs. 2,515 b) Rs. 2,590
c) Rs. 2,785 d) Rs. 2,875

41. In the examination Divya scored 340 marks
out of 400 marks. The percentage of marks, she
scored is:

gl ¥ fesar 400 et A A 340 ik Iw forw) 3T AT TW
ﬁaﬁwm%:

a) 60%
c) 80%

b) 76%
d) 85%

42. The number whose 20% is equal to 10, is:

I GEAT ST 20% 10 % SR &:
a) 30 b) 40
c) 50 d) 56
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43. If 46% of a number is 115, then what is 150%
of the number?

Tfe ot ST 1 46% 115 &, T ESATHT 150% FATR?

a) 300
c) 415

b) 275
d) 375

44. A metallic rod was heated to a temperature
of 120° C. Later, its temperature reduced by 34°
C and then its temperature was raised by 45° C.
What is the present temperature of the rod?

TF o1 T B FH 120° C F AW W T KA T@m 9% F,
THHT AU 34° C HH B TR 3R O SHehT A9 45° C sIgT

T TR B T IGHH AIH T RY?
a) 165°C b) 154° C
c)131°C d) 79°

45. A yessel is heated to a temperature of 62°C.
The temperature of the vessel in degree
Fahrenheit is:

Teh A ol 62° C % dIIHT 9 7T foRaT STTT 81 S ST d9q™

a)143.6°F
c) 66.4°F

b) 94° F
d) 30°F

46. Match List-l with List-II:

List-1

A. Half of a circle

B. Half of the longest
chord of a circle

List-1l
|. Diameter
Il. Centre of circle

C. The line segment [Il. Semicircle
which divides a circle in
two equal parts
D. All diameters of IV. Radius
a circle intersect at a point
-1 1 -1 & gHfeTd
s il
A. ST ST AT AT L9
B. I 3! T fsft Sfta I1. I 1 5

3T STTET 91T
C. 9% @rEe | aa 1. STEea
1 SR T B ferwTfire shea &

D. I9 & o+ = Iv. Brsa
o fofg w wfese et §

Choose the correct option from the below:
e fow e fomnedt # & ot e H:

a) A-lll, B-I, C-ll, D-IV
b) A-lll, B-IV, C-I, D-II
c) A-ll, B-lll, C-IV, D-I
d) A-IV, B-lll, C-II, D-I

47. In figure O is the centre of the circle. If AB= 8
cm then the length of OP is:

JHfT 3 O I 1 hx A AR AB= 8 F5ft &t OP i e &:

r
p < B
a)6cm b) 4 cm
c)3cm d)5cm

48. Jaspal purchased an old car for Rs. 1,18,000
and spent Rs.7,000 on its maintenance. If he sold
the car for Rs. 1,40,000, then his profit
percentage is:

SRATTET o T QU R Rs. 1,18,000 # @lET q9T 36 Tat@E
T Rs. 7,000 @9 frT IfE ST FR Rs. 1,40,000 F S=ft, o
IGHT AT T

a) 10% b) 11%
c) 12% d) 12.5%
49. The supplementary angle of the

complementary angle of one tenth of a right
angle will be:

TUHIOT 3 TH AT F G 0T H L Hvr enT:
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a) 99°
c)81°

b) 88°
d) 101°

50. The supplementary angle of three times of
the half of a right angle is:

A. Acute angle
C. Right angle

B. Obtuse angle
D. Half of a right angle

FHHIOT 3 T8 3 A AT TG HI0T 8

A. =TT H

B. 3tftrs ot

C. quehior

D. |wehIvT ST SATET

a)Only A /&= A

b) Only C/ Fa=C

c) Only A and D/@ae A 31D
d) OnlyBand C/ & B 3R C

51. In the given figure, the value of x is

&g TR H, x FAF R
o o]
, 32 50 .
N >
xO
a) 82 b) 90
c) 100 d) 98

'52. The sum of the greatest 4-digit number
and the smallest 3-digit number is:

ol TSt 4-37h1T HEAT IR T8 DI 3-37hRT TEAT T AT
L

a) 10000
c) 10099

b) 10110
d) 10999

53. The difference between the greatest and the
smallest 5-digit numbers formed using the digits
0,2,5,3and,is:

I 0, 2, 5, 3 IR 1 FHT ST FF F15 T T gt 3T

TR B 5-3F 1T T3t & = FT HW R
a) 45555 b) 44444
c) 43205 d) 42975

54. Which of the following numbers is divisible
by 3?

Freforfea # & == o vean 3 & R 2
a) 518932 b) 117342
c) 213454 d) 337625

55.144+9x2+6-4=__ ?

a) 10
c) 34

b) 2
d) 64

56. Jayesh and Mohan started a business by
investing X 28,000 and X 35000, respectively. At
the end of the year Mohan received X 6,250 as
his share in the profit. The total profit in the
business, is:

SR SR WET ¥ FHAM: Rs. 28,000 3R Rs.35000 7 fHawr
Fh T FaEE Y& foram o & 3iq #§ die @l A | 30h

R % &7 Rs. 6,250 firen) sraramr o e @:

a) Rs. 9,200
c) Rs. 11,250

b) Rs. 10,000
d) Rs. 12,250

57. In a 20 kg mixture of yellow pulse and black
pulse, there is 4 kg black pulse. The ratio of black
pulse and yellow pulse in the mixture, is:

et 2rer &A1 et 2rer % 20 TR firzror 7 4 forar et ST R

Trsror F shrett arer 3R et aTer T I &
a) 1:5 b) 1:4
c) 4:15 d)1:6
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58. Joseph borrowed X 25,000 on simple interest
at the rate of 6% per annum for 4 years. How
much did he pay at the end of 4 years?

TRE 7 4 a6 F fIT 6% i ad it T A THRT S W
X 25,000 SUR AT | 4 8T 3 i F 56 e aRT w2

a) Rs. 30,000
c) Rs. 31,800

b) Rs. 31,000
d) Rs. 31,920

59. In how many years will a sum of Rs. 1,800
become Rs. 2,610 on simple interest at the rate
of 9% per annum?

Rs. 1,800 Y TR 9% 1 T A WTERT SIS T fofae a9 #
Rs. 2,610 Br<IT@{?

a)4
c)6

b) 5
d) 12

60. The perimeter of the given figure, is:

&€ srepfar bt aiwTa B
2 cm/\2 cm
4cm 4cm
2 cm —om 4cm 2em
2 cmL Jz cm
4cm 4cm
4cm 4cm
2 cm\/z cm
a)32cm b) 40 cm
c)48 cm d)52cm

61. Pinky runs around a square field of side 50m
and takes 6 rounds. Shruti runs around a
rectangular field of length 160m and breadth 120
m and takes 2 rounds. Who covers more distance
and how much more (in m)?

Rihr 50 Hiet Som AT T TR HGH % TR AR et # R
6 =R T 81 Ffet 160 et g 3R 120 WX e I
T SARATHR AEH % IR SR St 8 S 2 T T &)

N 3l gt 7 @ § o feaft arfrs gt (ofieww W) 7
AT 8?7

a) Shruti, 80m
c) Shruti, 65 m

b) Pinky, 80m
d) Pinky, 40 m

62. If the average of numbers 12, 15, 19, K and (K
+5) is 13, then the value of K, is:

afe e 12, 15, 19, K 3 (K + 5) T 3ftga 13 §, AWK 0
ITFI‘%:

a)3
c)7

b) 5
d) 13.5

63. The average weight of five friends weighing
48 kg, 50 kg, 53 kg, 55 kg and 49 kg, is:

i SR, fSehr o= 48 TR, 50 femam, 53 fomm, 55 fomarm oftc

49 T R, 3 aa I Rra &2
a) 50 kg b) 51 kg
c) 52 kg d) 53 kg

64. Read the given statements and choose the
correct option:

Correct option:

Statements — I: Two distinct lines can intersect in
more than one point.

Statements — Il: More than two lines can pass
through one point.

R g et g S w feweT

g forhea:

A - 1: B AT WG T & ek fefgadl o wfoesa
Tt 8

o - I1: [ H Ao Y o foig & S ot et ©

a) Only statement | is true / FaaFT TR

b) Only statement Il is true / Fa T 1 T

c) Both the statements are true / aMiFA T T

d) Both the statements are false/ 21 %o 30T &

65. If x = 30 and y =
X
16(;+ 5)+1

120, then value of
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AR x =303k y=120%,d16 (§+5)+1‘emm=r%

a) 85
c)21

b) 84
d) 117

66. The decimal form of fraction 5/8, is:

=1 5/8 1 T €Y, B
a) 0.58 b) 0.62
c) 0.625 d) 0.652

67. The sum of all prime number, less than 21, is:

21 ¥ 9 Gt ST HEATR AT AT R:
(a) 77 (b) 67
(c) 41 (d) 48

68. Which of the following statements are NOT
correct?

A. Composite numbers are always even.

B. Prime numbers are always odd.

C. Sum of two prime numbers is always prime.

D. Product of two composite numbers is always
composite.

Trfeftga § @ = o e e T &7

A. STST HEATE BRI T Bt Bl

B. arTear deamd g forwm gt &)

C. 3 AT HEATAN T AT T AT BT 2
D. 3 WIS G T UM Had WIS BT 8l

a)Aand Donly/ @& A 3D

b) Band Conly/ SaaB 3R C
c)A,Band Conly/ Fas A, B3R C

d) A, B, Cand D only/ &=« A, B, C 3R D

69. A party was given to 30 children. Pizzas,
burgers and Cold drinks were bought for Rs. 450,
Rs. 300 and Rs. 270, respectively. Everything was
shared equally among 30 children. The cost of
items given to each child was:

30 STaT I U et &Y 18| fUs, sk 3R e g s Rs.
450, Rs. 300 3R Rs. 270 § &l TY & FS 30 T §
TS ST TN T Sodl ol Y 715 TR ! et ot

a) Rs.30
c) Rs.34

b) Rs. 32
d) Rs. 35

70. What should we subtracted from the sum of
3509 and 2165 to get 4009?

3509 3 2165 & ANT ¥ FAT HEET S T IO 4009 TT6
B

a) 3580
c) 2665

b) 3530
d) 1665

71. Which of the following is the correct
representation, using Roman Numerals of the
number 199?

oA 3t 1 I FA §Y &I 199 & @@t wfafiferea
e i a s ard?

a) IcC
c) CXCIX

b) CLXXXXIX
d) ICCCD

72. A number written using Roman numerals
(XXI = XV) — VI + MCLXXIlI is equal to

QU et (XXT — XV) — VI + MCLXXIII ST STINT ek
foreht 18 v SR

a) MCLXXIII
c) MCL

b) MCLXVII
d) MCXLIII

73. Harish drives his car at a speed of 45
km/hour. How much time (in minutes) will he
take to drive 12 km?

T Y R 45 Torri/eier < if @ S 1 12 fot = o
I Toram aw (et 8) @i

a)9
c) 16

b) 12
d) 20

74. Raman covers a distance of 24 km in 40
minutes. If he increases his speed by 4 km/hour,
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then how much time (in minutes) will he take to
cover the same distance?

T 40 firte 7 24 Forft it 5 7 ) afe a8 1ot i 4
Tefiyeier srer 3T R, @ S@ WM g0 ¥ T F T T

(et o) T

a) 28
c) 36

b) 32
d) 38

75. Amrita went to a market for purchasing
stationary items for her son. She carried Rs. 500

with her. She paid Rs. 135.50 for the notebooks,
Rs. 30.50 for pens, Rs. 3.75 for erasers, Rs. 48 for
a box of colours, and Rs. 142 for a Geometry box.
How much money is left with her?

AT I W F T R 1 A TR TR T T%
G WY Rs.500 T 5| I6A A1ET & fIq Rs. 135.50, ¥
% T Rs. 30.50, T F RIC Rs. 3.75, T & T e & fog
Rs. 48 3 ST dfe % e Rs. 142 F mae fam sah
e e R s &

a) Rs. 132.25
¢) Rs. 140.25

b) Rs. 142
d) Rs.145.75

SECTION — C: INTELLIGENCE

76. Figures A and B are related in a particular
manner. Established the same relationship
between figure (C) and (D) by choosing a figure
from the alternatives, which replaces the
question mark (?).

for A ok B o oy ol @ weifta 3 fosredt & @ w
Frepfa g epa () R (&) & st T defw T

o, St g (7) B wieeenfa T &1
ZISIRA |
(A) (B) ©) (D)
(1) % @) E@
G) % ) %
a) (1) b) (2)

c) (3) d) (4)

77. Which of the following shapes is a part of
the given figure?

Frforfea & & i o sl < g sl R 22

A

(1) &
@

a) (1)
c)(3)

@ [\
b) (2)
d) (4)

@

78. Which number replaces the question
mark?

7
(&) 15

b) 7

d) 14

a)8
c)9

79. Complete the following analogy
Frafafad ag st
BDA:7:CAB:?

a)3
c)5

b) 6
d) 9

80. Find the odd one out:
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ERISEIRCIEE

a) Summer/d
c) Season /=g

b) Winter/sfa
d) Spring/==a

81. Find the odd one out:

ELISEIRCIE
a) 121 b) 99
c) 135 d) 143

82. Choose the odd one out:

F AR
a) BEIK b) CEGI
c) ACEG d) BDFH

83. Find the odd one out:

ERICERCISF
M) &
(C))

a) (1) b) (2)
c) (3) d) (4)

84. There is a certain relationship between two
given words on left side of (::). Choose the
correct alternative for the missing term using
the same relationship.

(::) % TS AR Ry 1w & reat 3 of i weh T Geier 8| wH deiy
T IFANT H G YN 96 o Ferg wdt ot |

Clock : Time :: Thermometer: ___?

o s omifie: 9

a) Heat/ o= b) Radiation/ fafertor
c) Temperature/ amm= d) Energy/ Swit

85. Complete the analogy:

G TH
C:3:L:?.
a)5 b) 2
c)8 d) 12

86. Complete the analogy:
AT T H

Lion : Den :: Horse : ?

g . wig :: Her: 2

b) Barn / @fete™
d) Burrow / fsrt

a) Byre / smx
c) Stable / sr=qe@

87. Complete the pattern:

ﬁaﬁqgrﬁ:

5D

3
) @ @)

a) (1)
c)(3)

b) (2)
d) (4)

88. Arrange the following in top to bottom
order:

frafeiaa W A 9 % w0 T ey s
(A) Hand / &tor (B) Face / ==
(C) Heel / w&t (D) Knee / g
(E) Neck / &7

Choose the correct option from the following:
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e & et R

a) (E), (B), (A), (D), (C)
b) (B), (E), (A), (D), (C)
c) (B), (E), (A), (C), (D)
d) (B), (E), (C), (A), (D)

89. Choose the correct mirror image of the
figure (X):

A A XN

X) @ ® @© @

s (X) 6 et ador o

a) (a) b) (b)
c) (c) d) (d)

90. Find the missing term in the following
series:

Freforfea sjeen § qu ve @ Hifve
HFD, NU, TRP, ?

a) YWV
c) ZXV

b) ZYW
d) ZYv

91. Find the missing number of the series:
HET I FH U J1a I

0,3,7,15,24

a)2 b) 4

c)8 d) 13

92. Complete the following analogy:

Frafafad agE Ut

-]
Sl [=]

{nc‘.’J

® (=

>

M b

n
e
[N =
©J

acplans

a) (1)
c) (3)

b) (2)
d) (4)

93. Choose the odd one out:

b) College/ =it
d) University/ faafaame

a) School/ ke
c) Hotel/ geet

94. Complete the following analogy:
Frfafas g st
STAR : ATRS :: PLAN: ?

a) ALNP
c) ANPL

b) ANLP
d) LANP

95. Find the missing number of the given
series?

TS T hl W AT 1 hI?
2,5,10,7,26

a) 24 b) 17
c) 19 d) 23

96. Find the missing term in the following
series:

Frafafa gaen & qu 1@ 3@ Fif:
abc, abcc, abbcc, ? , aabbccc, aabbbccc

b) aabbccc
d) aabbcc

a) abbcca
c) aabcc
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97. Select the correct figure which will
complete the given grid-

36 HEt S 1 S Ry e B -

=il "2ISE)
>y - |
SIS <>

o [l

(&) E
a) (1) b) (2)
c) (3) d) (4)
98. Complete the analogy:

Cricket : Bat :: Hockey : ?

G UH

Tshohe : T o2 BFehT : 2

a) field / #=m b) stick/ =<t
c) Player/ faaret d) Ball/ 7

99. Arrange the following in the ascending
order.

TFreferftaa =t R svm o sqafie =Y

(A) Year / =d

(B) Month / wdiar
(C) Century/ &dt
(D) Week / @utg
(E) Day/ R

Choose the correct option from those given
below:

a) (D), (E), (B), (A), (C)
b) (E), (B), (D), (A), (C)
c) (E), (D), (B), (A), (C)
d) (E), (D), (A), (C), (B)

100. Arrange the following words as they occur
in the dictionary:

fafoifad wrsat s SHt TR sHafked it S8 F eI i
A E:

(A) LETTER/ v
(C) LEMON / i
(E) LIZARD/ fiswrcft

(B) LITTER / e
(D) LITTLE/ eirer

Choose the correct option from the following:

a) (C), (A), (D), (), (B)
b) (C), (D), (A), (B), (E)
c) (C), (A), (B), (D), (E)
d) (A), (C), (B), (D), (E)
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SECTION — D: GENERAL KNOWLEDGE

101. Who is the author of the famous work,
‘The Man - eater of Malgudi’?

e B7$e oiTE HEE B TR T S SEE B

a) Rabindranath Tagore/ wi=a &Mt
b) Ruskin bond / e sig

c) R.K. Narayan /.. TR0

d) G.V. Desani / St gt

102. A Khunti is
g R

a) An implement used to dig the soil/ gl @
o foTe gemTet foram ST aTeT SueRtoT

b) An iron pole to tie cattle / a3t 1 stieH & fog
TR T GT

¢) A earthen pot to cook food / @HT &M & foiw
firdy e

d) A musical instrument / T dia aERE

103. You put a glass of water in the sun. After 2
days, the glass is empty. Where did the water
go?

o O firems et gu § wam 2 R ae e ared 8
TRT| Y SRt T

a) It evaporated/ = atfead &t =

b) It condensed/ I Tufaa & maT

c) It froze/ Fe S| ™=

d) It turned into nitrogen/ Ig TS | sIge AT

104. Best friend of soil is:

v TR I E:

a) Birds/ usft
c) Insects/ #re

b) Earthworms/ %
d) Snakes/ sia

105. Which solution is given when a person has
vomiting and loose motions?

S ot =afer ot Sedt 3K % 2 < & wI O s e
AT R?

a) Milk Shake/ fies o1+

b) Lemon Water/ g arft

c) Fruit juice/ wai &1

d) Salt and Sugar/ Tme 37 =it

106. Which one among the following is NOT a
natural way of food preservation?

Frefefaa & & @ a1 Erer EeEun S SIEHfae et 1ol 87

a) Drying /@t
b) By adding preservatives /uaf@ae it

c) Salting and sweetening/F s sHMT X HiaT
T

d) Pickling /s=m s=mT

107. Which leaves can be kept in box to
protect the seeds from the insects?

St @ hiG W T=E F g B ufwet s § wht s
el €7

a) Neem/m
c) Banana /&t

b) Banyan/ swTe
d) Mango / 3

108. Which of the following works can NOT be
done with water that has been used once?

fr=fafaa ¥ & 19 a9 W T 9R) sdT R 1e aEt &
e forar ST HeRaT &2

a) Mopping the floor/ st diT

b) Washing hands and face/ =1 3 ==t &1
c) Watering plants/ dei st ot &

d) Using in the toilet / e & s&mTel T

109. Which of the following devices is used to
measure body temperature?

fr=fafad # @ fora Sueer &t ST IR & 9OEE Y
19 & fore fram st @2
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a) Lactometer/ wwerfiex
b) Barometer/ sRiiex

c) Thermometer/ emiHiex
d) Speedometer/ wferdicx

110. How many spokes are there in the wheel
placed in the centre of the Indian flag?

TR € % b5 1 1@ T ufed & fopaett diferat €

a) Twenty-six / Ssta

b) Twenty-four/ =sfia
c) Twenty-one/ s&ha

d) Twenty-eight / 27z

111. Who wrote ‘Ramayana’?
“remorror foRe feram?

a) Valmiki / aretiifss

b) Vedavyas/ Jg=ma
c) Kalidas/ sferema

d) Gyaneshwar/ =t

112. Which one of the following is a non-
renewable resource?

TFrafafaa ¥ @ i o1 e Rl dare 22
a) Petrol / U@ b) Wind / 1a=
c) Bio—gas /=@ d) Sola/ @R

113. In Jammu & Kashmir, what does ‘Yakhni’
refer to?

AT 7R R H, et T Haes §

a) A piece of cloth worm on head by men/ gz
R R TR AT ST AT S T ZhgT

b) A non-vegetarian dish/ T TiEER =S
c) A cultural festival/ te diehfres e
d) A form of local dance/ S I 1 Tk &9

114. ‘Tadpole’ is in the larval age of which
animal?

eqier foR SteR it arat STaem i 22

a) Dog / =
c) Frog/ #es®

b) Tiger/ sm=
d) Goat/ st

115. Birds like kites, eagles and vultures can
see things from a distance of:

e, <fer 3t i 2wt <l 1 R ot & Y e

a) Two meters/ arHiX

b) Four meters / a® X
c) Eight meters / 3@ diX
d) Twenty meters/ &g diex

116. What is the name of the eldest brother
among Pandavas?

qisal H Uel S HIE 1 A1 F1 8?7

a) Bheem /+fim
c) Yudishther/gferfst

b) Arjun/3%i=
d) Karna/sst

117. Bihu dance belongs to which state?
fog T Frr e Wit &7

a) Assam / &9

¢) Bihar / foer

b) Gujarat/ T
d) Punjab/ dsm&

118. Wahida Prism, Lieutenant commander in
the Indian Navy is what type of a professional?

TR e ¥ Aftede wuie ader Bon fre ywr @t
W &

a) Doctor / €&

b) Software Engineer / wiearr SSfifer
c) Chef/ 3%

d) Teacher/ ftere

119. How many gold medals did Indian win in
Asian Games held in 2023?

2023 ¥ ST CRRATE Qat § AR A fha @l 99
S
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a) 28
c) 42

b) 52
d) 14

120. Which super sense is activated by langur
while warning others of danger?

ot w At T o g B g
A el 87

b) Sound/ =ft
d) Smell/ Tt

a) Sight / gf®

c) Skin / @@=

121. Which one out of the following animals
has a very strong sense of smell?

Fraferfaa et & & freeht e St ST S5 wea 82

a) Rabbit /@@
c) Cat/ faeeft

b) Ant/ =it
d) Monkey / 3=

122. We mainly get energy to do work from:

T HW HA & T &7 A T et 8

a) Proteins /3

b) Vitamins /faerfim

c) Fats and carbohydrates / =@ 3t FeieEge
d) Minerals /a@r 3t FeileEee

123. Children who live in the plains would find
it difficult to walk on the mountains because:

AT AT Te Tt sreal i TeTST W I e
FifR:

a) They are lazy./ 3 st 8

b) The paths are rocky and uneven./ T qeriiet
CIECERCICER

c) The paths are very smooth./ T 5igd fare &

d) There are no transports available

mountains./ TETEl W s GREE 3uaTsy e 2
124. Where is Char Minar situated?

IR AR Fet R &7

a) Jaisalmer / @@ b) Puri /g
c) Aurangabad/sftamene d) Hyderabad/ #eteme

125. Earth takes how many days to revolve
around the Sun?

ot gt o e e e Rt e 87

a) 365 days/ 365 fa

b) 365 % days/ 365 v f&

c) 365 % days / 365 % faa
d) 365 1/3 days / 365 1/3 f&
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